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Do any five questions in all.

1
2
3. All questions carry equal marks.
4

Answers may be written either in English or in Hindi; but the same medium should
be used throughout the paper.
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1. Discuss the views of various philosophers on the problem of induction as a threat

to science.
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2. Write an essay on the origin of scientific thought.
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3. Explain and illustrate N.R. Hannsan’s thesis ‘theory ladenness’ of observation.
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4.

Discuss different theories about explanation in science.
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Explain and examine any two methods of experimental inquiry given by J.S. Mill.
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Under whét conditions a phenomena is considered to be probable ? Discuss
different theories of probability in the context of philosophy of science.
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Explain Mill’s notion of causality. How it is different from Hume’s account ?
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How does a scientist understand a phenomena — by description or by explanation ?
Discuss.
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Write short notes on any two of the following-:
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(a) The role of experiment of science
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(b) The traditional problem of induction
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(c) Measurement in science
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(d) Inference to the best explanation
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